normalized X?

107}

10*2 s

107

107

107

6 8 10 12 14 16 18 20
X2

[ normalized x? probability |

0.045
0.04
0.035
0.03

Prob(x2)

m=m== DQM_original_step2_tthar-phasel-newgeom
e DQM_pixelCPE_step2_ttbar-phasel-newgeom

wmm—= DQM_pixel CPENoMatR_step2_ttbar-phasel-newg

A2 =
5 F N B
2 F . A
= 1.8f--eeeieeeees EEEEEE R R [EEEE -
< F : e
R S R ARETET REPEY FEPE o
L o
] SRCEEE EEPEPE EPEPLT EPEPD v
o o
3 3
x @
TP n (PCA to beamline)
N O A F
2 S 18-
< 25 - < 1.6F-
v 1 \ E
1.4~
2| -- 1.2F
-
1.5] 0.8F-
0.6F
1 0.4F
. 0.2F
o OB o O
© ©
v @
b 1 0.5k
0. . . L 3 0_3 .
107 1 10 102 go 10 1072 ) 15)’1
T AR(track, jet
g
A
-
e
-
o
o
\
i)
I
@

. : :
10" 1 10 10? p103
T



	Contents
	Page 1


